0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
5DGYiQVIN. =RIiQ ,PUH
5,05¢( - +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
=UQ\. , X %S (
+8 LHFH) 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
6THPPINHV plipNHIpY 1$¢ P——
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
wC 6Dl (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_UTHIpY
6liIXV]
+DYLIHIHVIIPpQ\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
OE7<861e 9$1&6,. (5=6e%(7 3 *B: % *5% 1 (
_g+E6= ,679E1 3 *ts % *5% = (
$5E1<, -T=6() 3 xmzo- *5$ = (
“$5E1<, -1=6Q) 3 *$- " *5% = (
/$.$726 =2/7E1 3 *$: )* *5% 1 (
9B5*$ %5, *,77$ 3 %%z )x *5% 1 (
YRUDRP ,, +8)
$IQIV] . [IG|S  6JHIJEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
+DIYDQL 6]UYID
%$/7E6 $75,(11 3 o= *5% = (
3 *$:- * *5%: (
717+ -T=6Q) 3 rpz x *5% = (
5DGYiQVIN. 5UD
%(&. $1,7% 3 rpr ox *5% = (
6LPRQ /iV]ly $(  *mz ox *5% - (

gVWIHVEIHI pUipN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

5DGYiQVINL =RWiQ ,PUH



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

JRIDRP, (85

$IQV] .IWG|S  6]HUJEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l -XIDIpN
%(5el<, 5,7% 3 *T: (& *5% = (
3E6=725 3E/ /E6=/T1le 3 *$: (& *5%: (
06.(<$1"5($ 3 *$: (& *5$: (

DRUWDRP ,, (85

$QV] .IWG|S  6]HUJEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l -XIDIpN

QWIHVEIHIN plipN

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUl N tUiVEDQ D] HIV]i PROiV NpTKH]YplHIpi [0 Vi PtIRIN - KpIHQ EHI 0 D] O,& WRGiEDQ tHDGQL

%66 %URNHU 6HUYLFH 6\VIHP
THIHVHIP pQ\HIV] i PRO1V SDGYiQVINL =RUiiQ ,PUH



